


Pozicié

© 0O ~NO O WNEPRE

13
14
15
16
17
18
19
20
21
22
23
24
25
26
27
28
29
30
31
32
33
34
35
36
38
39
40
41
42
43
44
45
46
47
48
49
50
51
52
53
54
55

Cikkszam
B47720
B03384
B35915
211066-7
B32615
B50815
B33415
B07450
B30361
B30379
B30387
211278-2
B30015
211281-3
B46748
B30148
B11122
B11189
B33415
B10777
B11247
B18952
B33407
B10983
B29934
B30486
B10678
B30494
B50831
B11528
B29884
B30171
B50823
B21071
B18952
B41418
B36137
B50849
B08482
B21030
B38299
B32508
B45872
B47721
B50807
B31096
B09506
B26948
B30981
B31070
B10801
B48611
B14886

Megnevezés

Csapszeg
Csavarkulcs 13-17
Forgérész

Golydscsapagy 6200LLB

O-gyuru
Fogaskerékhaz
Csavar M5x20
Csavar M4,8x80
llleszto betét 0,15
llleszto betét 0,2
llleszto betét 0,3

Golyéscsapagy 6203DDW

Huvely

Golydscsapagy 6203LLU

Tengely

O-gyuru

Hatlapa csavar M8x90
Alatét

Csavar M5x20

Feszito gorgo

Cso

Anya M8

HatlapG csavar M8x55
Hazapu csavar M8x16
Kilso illesztoperem
Gyuru

Gyuru

Gyuru

Védoburkolat

Hatlap( csavar M8x25
Gyuru 2,7
Csapagytart6
Csapagyhaz

Alatét

Anya M8

Légterelo lemez
Csavar M4x80
Allérész

Oldalsé fogantyu

Trapézfeju csavar M3,9x13

Szénkefetarto fedél
Szénkefetartd
Szénkefe (1db)
Tipustabla

Motorhaz

Cso

Hatso feszitogbrgo
Alatét

Csavar M7x12

Alatét

Tarto

Kapcsol6héz, komplett
Zajszuro kondenzétor

Mennyiség

PP RPNNNRPRPRPREPNNNNRPRPNRRPRRPRPPRPRPRPRRPRRPRPRPRPRPRRPREPRPARPRRPRRPREPRPRPRRPREPRPARRREPRERERSR



56
57
58
59
60
61
62
63
AO1
BO1
BO2

B25221
P-26185
B17913
B20990
B31468
B44941
B42721
B35055
B50856
P-22327
P-22311

Kébelvédo

Tépkabel 5 méter
Kabel-feszliltségmentesito
Trapézfeju csavar M3,9x16
Kapcsolo

Trapézfeju csavar M4,8x38
Trapézfeju csavar M3,9x19
Elektronika

Acéltaska

Gyémanttarcsa (tégla)
Gyémanttarcsa (beton)

NNRPRPUOMNMRNRRR



